Why do | get timeouts when using a Snmp instance per
request?

Creating a Tr anspor t Mappi ng and Snnp instance for each request (or even a few requests) like shown below, generates a big overhead and 10 latency
through creating and closing UDP (or TCP) ports on the operating system. This overhead will let the approach below causing timeouts and showing very
low performance.

Bad example:

publ i c ResponseEvent doSi ngl eRequest (PDU pdu) {
Communi t yTarget target = new Communi tyTarget();
Address addr = new UdpAddress("127.0.0.1/161");
target.set Community(new Cctet String("public"));
target. set Address(addr);
target. set Versi on( SnmpConst ant s. ver si on2c) ;

Transport Mappi ng transport = new Def aul t UdpTr ansport Mappi ng();
Snnp snnp = new Snnp(transport);

snnp. listen();

ResponseEvent response = snnp.send(pdu, target);

snnp. cl ose();

return responseEvent;

Better example:

cl ass SnnpRequest Processor {

publ i ¢ SnnpRequest Processor () {

}

public void setup() {
Communi tyTarget target = new ConmunityTarget();
Address addr = new UdpAddress("127.0.0.1/161");
target.set Comunity(new CctetString("public"));
target.set Address(addr);
target. set Versi on( SnnmpConst ant s. ver si on2c) ;

transport = new Defaul t UdpTr ansport Mappi ng();
snnp = new Snnp(transport);
snnp. listen();

}

publ i c ResponseEvent doSi ngl eRequest (PDU pdu) {
ResponseEvent response = snnp.send(pdu, target);
return responseEvent;

}
public void shut Down() {

snnp. cl ose();

}

The above bad example
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